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OBJECTIVE

The objectives in this lab were to go around Lloyd Cassidy and locate all of the corners and doors with a theodolite and a total station. This was to teach us how to better use the equipment that we will need for surveying.

PROCEDURE

To begin this lab, we were to use a total station to measure the distances from the total station to the corners of the building. We also had to measure the angles and distances from the doors too. This was the easiest way to do this. When we had to do it with the theodolite, we couldn't use the prism poles to measure the angles easily. It had to be done with the philadelphia rod, which made it considerably harder.

FINDINGS

	 
	Unadjusted
	 

	 
	Bearings
	Distance
	Latitude
	Departure

	1
	 
	 
	 
	 

	 
	S 75⁰ E
	178.100'
	-46.096
	172.031

	2
	 
	 
	 
	 

	 
	N 36⁰ 33' 10" E
	178.023'
	143.007
	106.024

	7
	 
	 
	 
	 

	 
	N 4⁰ 33' 10" E
	63.690'
	63.489
	5.056

	12
	 
	 
	 
	 

	 
	N 54⁰ 26' 50" W
	130.000'
	75.589
	-105.765

	13
	 
	 
	 
	 

	 
	S 41⁰ 05' W
	103.550'
	-78.051
	-68.049

	15
	 
	 
	 
	 

	 
	S 40⁰ 05' W
	102.760'
	-78.623
	-66.167

	17
	 
	 
	 
	 

	 
	S 28⁰ 28' 16" W
	90.273'
	-79.355
	-43.035

	1
	 
	 
	 
	 

	 
	 
	Per: 846.396
	Σ lat: -0.04
	Σ dep: 0.095


	Compass Rule Adjustments

	 
	Latitude
	Departure

	1
	0.00842
	-0.01999

	2
	0.00841
	-0.01998

	7
	0.00301
	-0.00715

	12
	0.00614
	-0.01459

	13
	0.00489
	-0.01162

	15
	0.00486
	-0.01153

	17
	0.00427
	-0.01013


	 
	 
	 
	Adjusted
	 
	 

	 
	Bearings
	Distance
	Latitude
	Departure
	Northing
	Easting

	1
	 
	 
	 
	 
	5000
	5000

	 
	S 75⁰ E
	178.069'
	-46.08758
	172.01101
	 
	 

	2
	 
	 
	 
	 
	4953.91242
	5172.01101

	 
	N 36⁰ 33' 10" E
	178.033'
	143.01541
	106.00402
	 
	 

	7
	 
	 
	 
	 
	5096.92783
	5278.01503

	 
	N 4⁰ 33' 10" E
	63.693'
	63.49201
	5.04885
	 
	 

	12
	 
	 
	 
	 
	5160.41984
	5283.06388

	 
	N 54⁰ 26' 50" W
	130.011'
	75.59514
	-105.77959
	 
	 

	13
	 
	 
	 
	 
	5236.01498
	5177.28429

	 
	S 41⁰ 05' W
	103.543'
	-78.04611
	-68.06062
	 
	 

	15
	 
	 
	 
	 
	5157.96887
	5109.22367

	 
	S 40⁰ 05' W
	102.754'
	-78.61814
	-66.17853
	 
	 

	17
	 
	 
	 
	 
	5079.35073
	5043.04514

	 
	S 28⁰ 28' 16" W
	90.268'
	-79.35073
	-43.04514
	 
	 

	1
	 
	 
	0
	0
	5000
	5000


	Error of Closure

	0.103077641

	846.396/0.103077641

	1: 8,300


	Total Area in Acres

	N:
	183811830.3

	E:
	183722696.4

	Diff:
	89133.4

	Acres: 
	1.02
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CONCLUSION

In conclusion this lab wasn’t that bad. I felt like I learned a lot in this lab. I now know how to better use Carlson software. I also know how to use a total station and a prism pole now. It was beneficial to me to learn all of this stuff.
